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AP Calculus AB
Unit 7 — Day 1 — Assignment

Name: ADSLPY K%*

Find the derivative of each of the following functions defined by integrals.

1. g(x)= jjx(2:+3)dr

g10= (2020 +7%) (%)

2. h(x)= jf;:’,\/?d:
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Pictured to the right is the graph of Ar)and F'(x) = J. f(t)dt . Use the

graph and F(x) to answer the questions 7— 11.

7. Find the value of F(0).
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8. Find the value of F (_ _)
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10. Find the value of F '(2.5).
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11. Find the value of F''(0)
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Pictured to the right is the graph of fand G(x) = I FE)dFUSe the graph to atswer 127515,

12. Find the value of G(3).
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13. Find the value of G(-4).

6l 5 teenat

(D)= £(-8)

-m

Al
ACNDEREAN Y == f‘i;tﬂd’r N
- (200 Fm(a ) - - (D + 3]
| =4 - -1 = {-TH| | = -0-9 = Fl)
14. Find the value of G'(-2). 15. Find the value of G '"(-5).
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If g(x)= Igz‘?’ ¢'dr , find each of the following values in questions 16 — 17.

16. Find the value of g'(1).
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If h(x) = sz i+ ar , find each of the following values in questions 18 — 19.

18. Find 4'(x).
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19. Find /(D).
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2004 AP® CALCULUS AB

Question 5

The graph of the funetion f shown above consists of a

serueirele and ﬂn‘ee line segments. Let g be the function (3.2 '
Q_N‘:'ﬁ -
awven by g(x) = k f i3¥is : T
(a) Find g(0) and g'(0). ( ? K/)\GB -
{(b) Find all values of x in the open interval {5, 4} at which 4 @
g atfains a relative maximum Justify your answer. 4. -1)
PO, Y
(e} Find the absolote mintmm value of g on the closed (=2, -2 ‘
interval [—3, 4]. Justify your answer. Graph ol f

(d) Find all values of x in the open interval {-5, 4} at which
the graph of g has a point of inflection.
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